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PART A: Vocabulary

Directions: Chonse the word or the phrase (1), (2), (3), or (4) that best completes cach sentence.
Then mark the answer on your auswer sheet,

1- It had not rained on the prairie for several months. Because of the drought, the climate
had become very ---—----- A
|) unsteady 2) rigid 3) intense 4) arid

2-  Deserted for six months, the property began to look more like a jungle and less like a
residence—weed grew -------—-- in the front yvard.
1) unchecked 2) unjustified 3) complicated 4) scanty

3-  Can you please --—--—-—---- this last part of the lesson for me; I’m not sure I understood.
1) recapitulate 2) identify 3) postulate 4) recount

4-  Gerry's dissatisfaction with our work was --—---——- in his expression, although he never
criticized us directly.
1) vulnerable 2) bright 3) implicit 4) humble

3~  The world’s coal, oil and gas ------—---- are finite; one day they will run out, so think now
about what you can do to consume less.
1) appliances 2) deposits 3) relics 4) amenities

6- You are recommended to use mnemonics to help vou ---—--—--—- important items of
information.
1) enumerate 2) expose 3) recall 4) withdraw

7-  The lifespan of a mayfly is ———--—--—- » lasting from a few hours to a couple of days,
1) imprecise 2) ephemeral 3) superficial 4) switt

8-  His words to the press were deliberately -------------; he didn’t deny the reports but
neither did he confirm them.
1) mutual 2) essential 3) dogmatic 4) equivocal

9-  Hundreds of people had come to see a popular satire, but during the performance a fire
started in the theater, and the audience and actors had to --—-——-——-- the building
immediately.
1) expel 2) evacuale 3) disperse 4) detach

13- Computers have helped solve some of the mathematieal ---—---—---- which have puzzled

man for many cenfurics,
1) conundrums 2) caprices 3) artilacts 4) chronologics
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PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4} best fits each
space. Then mark the answer an your answer sheet.

When Newton arrived at Cambridge. the Scientific Revolution of the 17th century was
alrcady in [ull force. The heliocentric view of the universe—theorized by astronomers
Nicolaus Copernicus and Johannes Kepler, (11) ---------- refined by Galileo  was well
known in most European academic circles.

’hilosopher René Descartes had begun to formulate a new concept of nature

{(12) -=mmmmm-- an intricate, impersonal and inert machine. (13} ---------- . like most
universities in Europe, Cambridge was steeped (14) ---------- Aristotelian philosophy
and a view of nature resting on a geocentric view of the universe, {15) ---------- with

nature in qualitative rather than quantitative terms.

11- 1) and was later 2) and later 3) later was 4) which was later
12- 1) like 2) such as 3)as 4) the samc

13- 1) Although 2) As though 3) Because 4y Yel

14- 1)in 2) lor 3) with 4)of

15- 1) dealt 2) dealing 3) by dealing 4) and was dealt

PART C: Reading Comprehension

Directions: Read the following three passages and answer the questions by choosing the best
choice (1), (2), (3}, or (4). Then mark the correct choice on your answer sheet.

PASSAGE I:

Carbon [iber reinlorced polymer. Carbon [ibre reinforced polvmer. or carbon liber
reinforced plastic, or carbon [iber reinforced thermoplastic (CTRP, CRP, CIFRTP, or
ofien simply carbon [iber, carbon composile, or cven carbon}, is an cxtremely sirong
and light fiber-reinforced plastic which contains carbon fibers. CIFRPs can be
expensive to produce but are commonly used wherever high strength-to-weight ratio
and stiffness (rigidity) are required. such as aerospace. superstructure of ships.
automotive, civil engineering and sports equipment. ‘The binding polymer 1s often a
thermoset resin such as epoxy, but other thermoset or thermoplastic polymers, such as
polvester, vinyl ester, or nylon., are sometimes used. The composite material may
contain aramid (e.g. Kevlar, 'I'waron), ultra-high-molecular-weight polvethylene
(UHMWPE), aluminium, or glass fibers in addition to carbon fibers. The properties of
the final CFRP product can also be affected by the type of additives introduced to the
binding matrix (resin). The most common additive is silica. but other additives such as
rubbcer and carbon nanotubes can be used. The maicerial 1s also relerred to as graphite-
reinforeed polymer or graphite f(iber-reinforced polvmer (GFRP is less common, as it
clagshes with glass-(fiber)-reinforeed polymer), The primary clement of CTFRP is a
carbon [ilament; this is produced from a precursor polymer such as polyacrylonitrile
(PAN). ravon. or petroleum pitch. Ior synthetic polvmers such as PAN or rayon, the
precursor is first spun into filament yarns, using chemical and mechanical processes to
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17-

18-

19-

20-

initially align the polymer chains in a way (o enhance the Iinal physical propertics of
the completed carbon liber,

It is stated in the passage that vinyl ester -------——-—---- :

1) is similar to aluminium, or glass fibers

2) includes CI'RP in its binding matrix

3) contains aramid (e.g. Kevlar, I'waron}

4) can be the binding polymer in CFR'TP

The passage points to the fact that sports equipment -—----——-—-,

1) use low-density reinforced thermoplastic

2) may need high strength-to-weight ratio

3) are built of non-carbon but stitt CFRP

4) were madce ol [iber-reinloreed plastic

According to the passage, as an additive o the final CFRP —-—--—-—---,
1) silica is used morc olien than carbon nanotubces

2) graphilc-reinforeed polymer has litile application

3) fiber-reinforeed polymers arc used exclusively

4y aluminium and glass fibers are used together

The passage mentions that the carbon filament in CFRP ---—----—--,
1) aligns the horizontal polymer chains

2) is spun into some of the filament varns

3) can be produced from petroleum pitch

4} 1s usually cither polyacryvlonitrile or ravon

The word ‘enhance’ in the passage (underlined) is closest to ---—--—--—-—-,
1) “improve” 2) *agree’ 3) ‘react’ 4) *function

PASSAGE 2:

‘Transgenerational Design (T'D) is the practice of making products and environments
compalible with those physical and scnsory impairments associaled wilth human aging
and which limit major activities of daily living. The term transgenerational design
describes and identifics products and environments that accommaodalte, and appeal 1o,
the widest spectrum of those who would use them—the young. the old, the able. the
disabled without penalty to any group. The transgenerational design concept
c¢merged [rom his [ederally funded design-for-aging rescarch project, Industrial design
Accommodations: A ‘lransgenerational Perspective. The project's two seminal 1988
publications provided detailed information about the aging process; informed and
sensitized industrial design professionals and design students about the realities of
human aging: and ollered a usclul sct of guidclines and strategics for designing
products that accommodate the changing needs of people of all ages and abilities. The
transgenerational design concept establishes a common ground for those who are
commilled 1o integrating age and ability within the consumer population. Its
underlying principle is that people, including those who are aged or impaired. have an
cqual right 1o live in a unified socicly. Transgenerational design practlice recognizes
that human aging is a continuous, dyvnamic¢ process that starts at birth and ends with
death, and that throughout the aging process, people normally experience occurrences
of illness, accidents and declines in physical and scnsory abilitics that impair
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21-

22-

25-

one's independence and lifestyle. But most injuries, impairments and disabilities
tvpically occur more [requently as ong grows older and cxperiences the eflects
of senescence. Transgenerational design benefits all ages and abilities by creating a
harmonious bond between products and the people that use them. It satisties
the psychological, physiological, and sociological [actors desired—and anticipatcd—
bv users of all ages and abilities: safety. comfort, convenience. usability, erconomics
and accommaodation.

We may understand from the passage that, prior to 1988, ——-——--- :

1) human aging was considered as a dvnamic process

2) age was not an important for the consumer population

3) industrial design professionals were hardly sensitised to the realitics of human aging
4} industrial design professionals had only a few set of guidelines for designing products
According to the passage, TD products —--—-———-,

1} can be equally used by the young and the old

2) start at birth and end with death for their usc

3) are not usually limited in terms of lifecycle

4) get federally-approved design-for-aging funds

The word ‘ergonomics’ best refers to the words -----—----- in the passage.

1) “people’ 2) “bond’ 3) ‘users’ 4) “factors’

We can conclude from the passage that the basic principle hehind Transgenerational
Design is the concept of ——----—-—- ;

1) *daily living’ 2) ‘unified society’

3) “sensory abilities’ 4) “injuries and impairments’

The word *scneseence’ in the passage (undcerlined) is closest 10 -——-—--m-———-,

1) “illness” 2) “lilesivle’ 3) *dependencee’ 4) ‘aging’

PASSAGE 3:

A protolype 18 an carly sumple, modcl, or releasc of @ product buill 1o test a coneept or
process. It 1s a term used in a variety of contexts, including semantics, design,
electronics. and software programming. A prototvpe is generally used to evaluate a
new design to enhance precision by system analysts and users. Prototyping serves to
provide speceilications for a real, working system rather than a theoretical one. In some
design workllow  models, creating a  prototype {a process sometimes  called
materialization) is the step between the formalization and the evaluation (of an idea).
Engineers and prototyping specialists seek to understand the limitations of
prototypes 1o cxaclly simulate the characieristics of their intended design, 1t is
important 1o realiz¢ that by their very definition, prototypes will represent some
compromisc Irom the [inal production design. Duc to diflerences in matcrials,
processes and design fidelity, it is possible that a prototype may fail to perform
acceptably whereas the production design may have been sound. A counter-intuitive
idea is that prototypes may actually perform acceptably whereas the production design
may be Mawed since prolotyping malerials and processes may occasionally outperform
their production counterparts. In genceral, it can be expected that individual prototype
costs will be substantially greater than the final production costs due to inefficiencies
in materials and processes. Prototvpes are also used to revise the design for the
purposes of reducing costs through optimization and refinement. It is possible to use
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prototvpe testing to reduce the risk that a design mav not perform as intended,
however prototypes generally cannot eliminate all risk. lThere are pragmatic and
practical limitations to the ability of a prototype to match the intended final
performance ol the product and some allowances and engineering judgement are olien
required before moving [orward with a production design.

26- It is possible, according to the passage, that a prototype --—--—---—---- "
1) skips the semantics part of commeodity production
2) costs [ar below the real manulacturing costs
3) perlorms better than its production counterpart
4} fails at the very stage of its production design
27-  Which of the following, according to the passage, is the correct order of components in
the proeess of ‘matcerialisation’?
1) *evaluation™ = “prototype™> ‘lormalization’
2) *formalization’ > ‘evaluation’—> ‘prototype’
3) "evaluation’—> ‘formalization’=> *prototype’
4) “formalization” = “prototype’ > “evaluation’
28- It is stated in the passage that a prototype is --—--—--—--,
1) evaluated by users as well as svstem analvsts
2) an essential part of software programming
3) compromised by faulty production processes
4y in lact, a Mawed picce of production design
29-  All of the following about a prototype are correct except that it --------—-—-,
1) is used to simulate the characteristics of the intended design
2) represents some compromise from the final production design
3) matches the intended final performance of the product
4y is used to reduce costs through optimization and refinement
30- The word ‘sound’ in the passage (underlined) is closest to ----—----——-,
1) ‘complex’ 2) ‘fine’ 3) *cheap’ 4) *weak’

sl L )9 T (i bl T LB i (s it (i (o) imiits il (g1l i
Hitiw |l drols o itle Sl gd Co i alaidf g b il i ol oloo7g Cerbeo

Y G gyl o1y ol 4z ety ol o (Do more with less) « s el el soliiowlr Jeadljgimws T
Cans o 51,8
skt (551 B s oL (Y B paa & jhuaizg (O
s LB lg 3l sosme ealiiwl (F o gl <l sl (Y
TR Yol oy 31 68 3,15 4z sliaf woud Wbyl waad YT
Reuse ¢
Reduce v

S

Recycle ¢r

Downeycele ¢f



Y axiio 407F AFEY a5 gimias o150

R oela s Lol o —=1,b axs Emaou.j ctdoeo L5 38 a0 alliy e SO 1Al 3w sanling
Cawl 2lpbs ola el il

;_g':'l"c‘:}. | d._ia_fl) (v b s Conent ngJJJ e

s jlade (F adgi S, (T

flaml ool ol ludl o Ulad pluf S ol (gl o o guad 30 00 431 )] J guazmo

gl Y J.} )_{_Q_: {1
(cilaie Bauh (¥
corolaal 12, (T

bl s)léy (F

il 00l 03191 1 oy 3 (ldinn az ;0 OXO) &5 i

sge a8l T tagh Bgsle (O
80 plel (F ceSdly pjlal F
il b 31 (ot CSiaas sy (s o8 S ) g g

S5 gla (0

e L (Y

Seeegisf ) (Y

& Serorages (F

filosds 1ol 0,585 dz Lol o WL (Alessi) oandT o5 1 Y gazmo

K S5IF K T 0 Sl (¥ ERT T
Py chiglds ot o gaentno oY quaseo CILLAT dioe 3o €opd p Juod Wilasiio 3 lae sled

egse A Jolis ol Slal B1LaS 535 8 50 sy DY pame ()

Wil g el Cudlde dawgia g5l Foums b DY same 4 Zuad cole L DV eama (Y
)l (g e oo cagia (6 Sors b DV game 4 Leid sdizen | Lo LY paons (F
Todguit oo 7yl ldlons do 10 g Gl € g0 Lie LU 29 moadn 5y plad

wkas - o pes a8 b g Cews gladseals LWl LS e (3

stlamt = g JE el Jlos heS ailfas claplgsenl LS o (Y

il = S8 lls 5 pae BB (59, p etz plaiis L2 DI > (F

Tl Camtrl glyls 2l srade | SOplaf DY pame  sloiat LA )b (o

(§ 5 - gk, (F ErA -8 0

&S - g8 (F cridled - (g,585 {F

ey

_v¥

-¥é

-YF

¥y

-YA

¥

—¥.



A axiio 407F AFEY a5 gimias o150

fel sgr «CTRLZAKS 530570l by )b 4z gomo o=lyb clis 3550 o105 —F)
oypkie iz b ()
S e (Y
St b (¥
SYgae b (F

] gy g oMbl &l o guais (g it 3 y90 pli¥ FY
8l Bend 4 (5598 STy aiails Slopls (7 (g5hue Sad ay G Dbl b o e (glapls )
(30 bgeds 4 o loply (F Sy dgels o Vel glaply (7

| jlado 4 Togas Al il glad jo I Sl o JiSTue o Sogist )l b 50 —FY
s Yo7 (F S (Y yo A (Y pa VY (N

Pyar Mgl on gtes gl olB g (ol 5l sleg) Yo slge eled —FF
SWOT (f QLC ¢v REBA v RULA ¢y

s 9 S 51 .adl anbls raslin (A) Job 4F 05d skl (ghaod il wablas o S50 iy (sl S (58 —FD
Sos wRlgd & s Slal ciawsd gl {A) dinwos Jodo 8l o3ladl plad ol ) Jauer o ian ) 31 s AT
A YL o i ot e 1)

Y O

L (5 0 Cowd a5 alo TR ¢

i e

e L L : WL Y

e - .“‘(
J A WA i

Y
VYOGV . (F
4 Wy ¥ e
Vo Yo ¥
W 14 &

0,00 0 0, ogigt )t glrog o 5 3l ey ploS 30 (EMG) S 5 gog oSl gl pirmics FF
b gagigT I (Y olaia] cosis® ) ()
worss )l g Sk (F . I

510 g e bl sl )90 plaS b5 (23 )0 GLAKST (5 o)1 8 Jme (e ol gl FY
ey = s, O
EICIER SE
39 Jol - (ol (F

SEES (a 50 - (5 Regys sl (F

ol (oo (uidy ubld [ 5505 (sloe pl Soangin 5l o215l (sl jlane 1 piten 3550 plas —FA
(s pnd _ 3wl - Lave jlad! i Y i yadl _ olasl 808 ()

oty = @0l jezme Jobo ojladl - o ol (F et Lol g = i 98l = 2 (¥



4 axio 407F AFEY a5 gimias o150

bl ool 55 €180 92415 o jluiliwl laizes 3 50 plas

holsd Slapiuns 5lp jme Sludl b (Y ge 5 Wdgi Jae! Lol g Jpazms b (3
b S Ll p Jsams b (F galaid Jai b jemme Loy 15 b (Y
Yl «L;-.-b.b T ) C'}u:ua' LTS D 350 ra‘..ﬁ'

ol Jladsl i s la (Y e Sodlad gle 3 (O

el Anagh Ls olj.o.sz T L_?"‘)J‘} "\':'.'.1)'&" (f J-.g_JIS' ~_JL?._..'3-).: L_-?'L"’) LR oLy v
s cdddanss (Wicked Problem) «ccos aliuwr ol Shg 310 ,le0 plod

alivmgghyy ooty o5 g5 Sgmy Y honr sleygun di et Fdemg ()
lies Jo anl g s Ll abis lads (F aliun &g Dloglas 301 wias (T
3o ok S 00 )18 solinsl 890 s Sladgd (2L 35l 50 3)les pled

e T e

lers iz 5T pena slo g, (F olisobl LB pnizgn €7

€ el o 33 «Giffen Good aad Y G jai 35 590 plod lasdl 359 5o

dgdige o Ll (258 corge dalps (Y it pili o o SLolE plie pr eend il ()
2eingn ol Slalis Jals oo selpo el (F agipe o slolis (i3l carge uad ilid (7
¥l € 3 0 SIS Cifo? b Sl il 13 50 S’

Sy (RS (Y (bl (595 plaseiad (3

oy ze hals (T gelsz (ol (taia (¥

sl i 1St 99 50 sl om0 3 ile 18 (sl ol rlisme i ladd Ao
sibosbe Lo paa (F el st o 1

5 k8 ellai (F s bz pllai (Y

CaiS o B yme |y (JABS —10ee)  taio Ol g aler po polis (3550 ol

B - Sodls - 3¥gh - oalel, (8

ik lpl b (a8 ey’ - 5 (T

Sewdl - gl lnl o sl il Sas Sladad (Y

S JUj - ozl - By pdlo - (g9lS VT il (F

Pl €50 Kloae g (5o jad (ALT L oLAT 289 wgjlo posl g aliwn Jo (gla by 51 Suplas oyl

TRIZ f Scamper (¢ QFD ¢x CPS ¢
C3 g pod Al (Brain storming) o 538 Uk iy 0 2! Gl L Jee! 100,50 ol
Srglad ~udlaal el (T loods] ey 35 403 {0

Jpsapd cgloonl 3 Juid (¢ $3apent) 33 o3 g (¥

Fim] Lo alod & (Overall Dimensions) A5 slul o godadiom o210 5395 30
Jgaze Loz satein sl (3

Jyama 1o aidis bdaions oS sl (Y

o1 diilove 5 Jgeamue 03,8 52,0 ebaione e 02555 ol €F

2y5 p ) Jyare dlgly aF | Jodains e 1 2598 ola! (F

-¥4

—0

-&)

-ay

-oY

-8f

-&b

Y

-&v

—bA

&4



e aziio 407F AFEY a5 gimias o150

ey caddd ¢ P8 sl gosdiuny Ll 38l plod  —Fo

b leas 20l plad S B (Y celie g placle ()

Loais¥T g ol )95 368 4y S Wl Cnglita (F Sazrs soliowl § 22l ils oLl (Y
o 3150 plaS o @y Sl Jlood Fa iaios )0 (918 (gusadins B pan (5 o oty -F)

G50 B0 - lerd sloos gl b - oasligi ()

SO g0 = 00 g S 2138 slge  Laaslles (¥

Loaloigi - (5518 gp,0 - ot gpmaf (ldE Slgs (¥

b sloon ;91,8 L baligi - 0ud g S 18 Slge (F
g0 0n ol a0 3 S Bl Jo il YF 0 U AT O (o (0 5 ol il baimo cwliliyly; S 0 PY

serea (T s (¥ oy (T selez! ()
Foaw! 5 lodio 3o (Meeting bowl) «olidle aulsy o5gp o2l 5l ol Ban 0,50 plos —FY

£l

| Jr e UJ.LA.{JL» A i;:‘)'f L?:L;ﬁ 0
e e o o 5 bl LS 5 (Y
Olykao b oF godd 9 Dlide (gl s 4 Sigeo (Y

Lo (cbad 42 c.)‘EJL“J- l_g|_;.|: t5;:]..;:!.»:-»1 (clas ﬁ.ﬁ'J' (f

fand oo slid 1) el 2k Fha plas ool SleAsymmetry» Joe  #F
g ol ()
S yemt Jokas (¥
Sl Jalas (F

Py LS 4y poeio (DFMA) Glitgo g adsi oly (o>hb» 2580, 50 (2 hb (lbSuss jl Syplas’ —F4
Fal aplas wdgi sladis 30
)i.ldis L Ljs,a_?m alalad ,InLé.bl {7 )}rg..\.n Colalzd Lg':rLJ:: {1

Ja_.a:r_a }L.q}.c e pj1-5_,-_~'3 DY lat! _;l1 aalzz ol (F JL‘-'ﬁ-‘a 32 \.__l1._|\_...__._!_°.3.¢ ,2-5.:'- \SL“{HPM..L_HJ Lf—LJD 43

oo X! yad 32 Lol gy 5 it ‘u-“;"u-”:)'béJﬁ"éfﬂgﬁﬁ“ Qdmﬂd%id’ﬂf!@h@u-’%ﬁf”@)#

0 8 LBlS 1) | omw i Ao g Sl 50 00liw] (6l 9 cguiSw g ilsd oS Az —FF

233% Sub 2IV (F e (F 2sls (¥ obis 2 (O
Cuml 3y8 plaT (o415 318 gloduadeiun 3 pylgasm JRi 41 clalg) g (9)F aina s (635 loga pl —FY

a-=2F LT -7V O

5. ALF(F G.aYLA

¥ oty Dlﬁ-l dilaig 10|..ls LSJ'S}U: & ‘3.1.1.7.0 LJS":" ;5'4155-'} ébulm —FA



1 axio 407F AFEY a5 gimias o150

fuinid go 4l by elaf &1 LIS 6500 8590 (6,15 318 b9

& s (F s 5w, (¥ o lazgo (¥ & e O
Clcnl aals ool € g doli Ll lgicas € > by cudsd glacd Wb 1 Suplas 4o
o9 (F el e st (¥ iy CF 2592 ()
Tl ;990 il Jauogd o (21 pbo Slgus (T3 g 13,90 plos
Wi o bbb ()

Canards 30 Flgane @y jzd SoLlE (T

cryate yE Sy 5 (s (550 53 (T
Slgans 3, Slae Zagz 2S5 63,50 5] anlaz! (F

el o goad )0 oude Ayl (Jodo (09 3 215k o1 13,90 pls
§3 | o = e ¥ ()

ol sz - mgalle replS (¥

Ay by - St dilS edy (Y

el LB by - prella e (F

“Conl (Shakers) b Sl 09,5 lwgd ol il OYgama slb T g jl 0550 plad
JERRY o5y U5

LS Al s Sl sleslild (F S gama pyf goid (T

il 00l 2270 S glos 2§80 sl DLl (Johows? wlosl Loy (Juiuo plaS 3,50 ;0 ey (0
.l xS Ky I 8 SlS 0l ! ably g0 Bas byl 5T Jobo 9 ol U il (Jades £l

K e (F iy v 5350 (¥ ENIS
a2l o (g3 54 55 9 Somw Cowpd (Sloj o 0 90 ploS

IO IO TSRS ST P, G 3 - 0N [
o' = LeeaSIo (25 (ol Ll (g0 - g5 5l 585 1T
S5 e (oo - Gl - LeasS - el (95— 953 51— ggi 51 €7
8 i e LeonSTe cplied e o5 & e Ll (g0 god )] (F
Yage adeito WYL 3o Y o yiwl ABS polra gyl 50 Sw plad

253 N (F roglosl (¥ ggi <, (Y il s
Fowwl o1de o (Function) o Slee 51 ualeal a0 5598 slfaud 13580 plas

etz bl 5 rni i (Y Ol ol g (ol 558 e €1
Seadier gy GRALLT craalodiih g glungd (Y

Eogu, 00 00 ol ple pip 10 Cand  sleijl oyl Sw plas 4o
ciwd galiz g yia (F g5 oyl 993 o1 (¥ sl ga )

54

—V

¥

-¥Y

AT

_v¥

-¥b

_ys

-yy

-YA



WY aziio 407F AFEY a5 gimias o150

Pl ooy il | iz a2 3 g ] | 2l o S 2l U Ballae gl 0 ol dly] Judes

) PA _ \.'_1.1‘2: fb.l).q_..ql {\
ey e PVC sl Ly
i PVC_ oy«

PA _ . aaa(F

T guit oo i | o looiltl £ 0 an as KM 0ad

05 a5 S5 4y i cslacd s (Y ilgar (58 & Ui (sl 15 ()
Sl K 4 izt gloid o oF Bogn, Il sd gy
Y] ouds eolis! )Lﬂ j‘ L_f.?l,nk}.s').} wolS il .31.'!'.!1 ,_5|J.! Aol 15 30 IR U.ET G
gl | il e (V el Slals dezea (3

Rl il 3wkl Wil gl vl 05 07 g orlh i syl
e g e (g lgSi o b jaea (4

G525 Gfey 5ol 6slaeSS o Jee (Y

D55 Ofsy 3wl (6055 - LesSideS (T

bt 5 05 gy 5wl et g s leeSi o sael (F

i jlwd tao) g enidld padi gy e il yoed g 1y g Siibgy (glmadads Jb ki g e e elaf

F0t8 ) o (3 3 o090

e A5 025 (F el B (Y re— TR g | dlS

! € s sLiioll b | 22135 puaio? pggio o yq0 plad

b pale b daipe a5 o (F P e gda gt il glasll O

] 53,8 S s polis Gulnl p 457 g n (F £ et S 95 i 3l glasls (Y
Yol lel (oS dz b g (Jlo 4z j0 1ot jo7ed aly

My gog§lim s Y44 (¥ ikl W50

Sl 95 d1o 12N (F o5 S e sz e - VAT (Y

-vq

_Ao

—-AY

—-AY

-AY

-A¥

—-AB

HAwdid g S5 pad o 8 olyb sl slo ylg ) 9 Mao il fle) w9 Somlio (a0

€0 )3l o0 Sy 1y e pdaph Colld G5l 4z po (clay) (g5l Juo JF

bl R B ra deC e ¥voC o0y

b g0 b (S yod [ 95095 o a3 Joe Sy 2l ol po w0590 plas

atyyer; - goludalad 5, S psd omlan g S (50 - 00y L pgd L3 OO

a3 5 67 e - (g jlodatad L aSTgn 6 Sl g3l S ) (g Saigh o (2 Jae 5 (Y
il - giluankad - (6T (gl S, - g St - pgd e (5 S - Gyl pgd AL (T
(33l = glmankad o 65T g hal ST - (S gy - Sl g - 0 el el - sgdatdly a5 (F

_AS

—-AY



WY azio 407F AFEY a5 gimias o150

el 3l a8 0 o FWL sl 5l o an pw g jlwdigod 04l plul 31 fels Juw

UC ¢f SELA SELS ¢ DM ¢y
Y4l 8,18 Gan TG ldls po plas s &Ll

M &Y (F gl Y (Y S5, @Y (¥ dadles &Y ()
! g Lidkizie adolio o o lw plp 50 Ceoglio G 3 yg0 ol

(gwlon = (elal = b0) (¥ (fladi < goye = pulos)
(£t = oo = polea) (F (el = pom = puloa) (T
08300 3 gt o105 (292 oo yal B i 1 plokus SLige 10 CBge Jlail (g1
SBsgs (F gy (¥ oAy )
il gydag; (33 dnlad adg¥ (gagy 2y 10590 ol

CewalSsls (3

GigSE AT

5 Sase, (7

bty it (F

T mnnd a3 u.'i)js JYB.@ S350 30 alaogl ra‘..‘\.f

o g oot Sl o S0

)0 55, g Labloee _tSms 4 5L (¥

._33_....1\5@ aolé sl L‘S‘)Lm 3 LE-‘-")L-’; ‘SL{hL‘E:é L.;Lmdm_u.:fu R ,;_gL,J_ 43
RUCL SEPRUN EERS S <A1 PN IPL GIEL g P SO F RPNV LT 6 O 4

Vo] gydugy &0, n.+.JlS FLE W aala ‘_;Q_LM s -b;ﬂ.f 3 350 ra‘..ﬁ'

Mold?d Part <8 0ds, O
oS

30 5,5 (¥
Slye (B3 3,5 (F

pressure Plug - A

€930 5150 (g, plaF iyloy8 JA5 58 (A) sud padiiis sl iy (glp
&S 94bse (O

Sdgs S, (Y

=S A gy 7

S sl e (F

—-AA

-A4

13

=1

_ay

-q¥

-a4



V¥ axio 407F AFEY a5 gimias o150

el pIAS ez dy Cusaly o i cadinds 90 5lgi g (pali aid cally) Jlaw oy gyl et be g,

B2 CaanSels 35 o o0 (F 2 R
ST o5 ey agol (F S g o5 0l gy (F
Clomaz 3l o e o o L 1y (gladinds (g ks ddad QLB o9 49y pguad

oal

oo (1

e (T

poemmegl! (F

ol dlgi (59 pluS & g0 9549, AL
b

g Y

Sl &, (Y

0 s S JB (T

Tl uodgi 33 A Galad b dslio o B dalad | 210l (e Scwlbo cde g0 plad
&b g (O

anked Szl ifid (¥

sloa Bran lies alS (¥

aalad Lot pmlas gy 4yl (glo 523,98 als (F

Tudlosds diobuw gy 42 U igyouny igead Ciladad 3l @hud
BuF -2 agdbo g aesb - g WO

Sealge iiey -0 egalim by - gl AN (Y
B -0 gt o g o Kuadse nSy; oy ol (F
ook -0 wSaalge 335, - g wdeF - i - AN (T

_4qp

-y

-AA

-34



1 axio 407F AFEY a5 gimias o150

sl 15 poeer (gl oailer (glod o S0 plas

A o
'f' l:_
(f B (¥

G Vi S oo o e B adai i Al 51 5 S8l Bl (g e S0l 53 QL jade 58 g9 a0 S
€l Gy dbasly o108 sl T dlaii o g 2SU) i Vi g Al o oy g 28U

i Vi >V
*"C\ Vi<V @

Q O f Vi=V ¢
V2V (f

Slokip1 (595 o )l o dwd g IS Guillae VAN (595 (51 s 00 (L8 |y o S 23 S50
(! po, oo oz pr S50 30 a0l 00l LG Slasl) Sl oy gud dir Sgud 0 8 )lg A alaili 0 guaw 4 A4S

75N FAAA ()

VYV A (T
Ayt (F

75N

Iy ool by il = P gl b M i aaT o (gliaidl S0 p0 a5 gy S0 YU 1 g 5 S50
30 St jalme 59,5 8 el ol @ ol S Jle 58 4] duaie dges sl 3 B ple ubs o lis
b e oz 4k 51 ple ol ciin oo 4T J0 1 ple gl (LSS 45 3L sl el danls S A

PR | VN | S A QY
FY

d f Y
¥ (f

: L st

R ARRRISRR

AR ARRRRRRAY

=4+

_\.r

—yeF



V¥ aiio 407F AFEY a5 gimias o150

¢ ] Lo dowls ‘51..01 dLLn.Jaﬂ 3 350 raqn.ﬁ' —Ye 8

Lejgoma (5 S ol )| (Y LolBbl 5,558, ()
JYC ST Lea..u:nt).g- ooy adlal (F PP l_g¢;;.,;1 o

$! A 43 b}'sﬁ L UB‘L‘L' dodls L;WJLM UL'JS P U'Lu | JUUE 1 EMJOLU 1‘-;1&5.03 ra‘..‘kf —Y+F

o

TQ, i
£ (Y > £ (\
G|

»e (f »g (¥

833l gap—ad g Yomm gz ,o —had Fl.cunl sud soliiwl 50V aZyg g0 Jladl glp 2 o SO 31 00 Sl VY

pw'J&qu&&&@bﬂn;éhw&x&usu\.»jJLJP:TOk}J
¥ 0
P<—§: I I | 32
1 ] P :r[
| |
‘H—Jﬁ e v
— -« I

v -
— Yo {r
T

T
—xa f
T

Wb Pog i o3l canl oisw 8 gy 90 oul 31 (Fa o301 iS00 FIAB aloo @ 550 50 33 S50 Gillae -4

Caily ails 31,8 AB alo oluciol ;0 g yai g8 dinl 3 b bl o7 g aie Ly pif

(3indo° =o,¥V ,5in¥o® =0o,#¥)
YO
)
88 (%
#Y (F




Woasedo 407F (TFY o) Jmus b

m =
el h g o 515 1gh Luoms 40 g 2yl Bem” alaiis plaw b sllgl wilas 31 F— gasi Lol ) Kb 40 144
8

[

Open m 2
. / (g=‘-ﬂ"q—.r) Tl o iz jU o il Ayl )5 O ygiu
| ’ 15 ()
dem £5 (1
" fm/s AR
VFoA (F

/S

Yo cm

bwgd ity JSB llao 50,10 5158 Yo ool gl b 500t o 935 B0 KE jg & Jor goF S0 W
wimtl 9 Sl e 5 55 oo bl Sl o b ] ouds dious pil8 Hlars SO A 6 i)

i m
(g =2A7) Sl (igw diar i) 53 elS (69 b ol 5l s (63190 o) (sl
5

VYV O
7 YE, o (¥
: AT
/ £YEF (F
j 7
Yo |



H07F

VP a5) sieio olyb




H07F

VP a5) sieio olyb




H07F

VP a5) sieio olyb




